ME-340 LAB ROLLER BEARINGS/QUIZ February 18, 1999
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A shaft rotates at 1725 rpm and is to be simply supported by two, 25° angular-contact
ball bearings. Both bearings are to support a radial load of 600 pounds, while one of
them also supports a thrust load of 250 pounds. The design life is to be 5000 hours
with the a gearing load which is considered to be moderate impact and a reliability of
95%. The design is to be “idiot-proofed” such that one bearing is to used in either
location. Using the Timken data, select that bearing,
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